BCI C415

LHT = LPA + 144
HHT = HPA + 144

HPA
Vega C300
1600— —
120 / _—
550 — — |
| le10 | LPA
0 55 1584/1600 2400
HPA
Vega C300

94— — — — — — —
BY——— = 2‘7‘
550]

[
150 | | LPA
5

HPA HPA
Quasar C500 SE Controls C600
1600— — 7 1600— TSRS
// //
Ve v e
1200— — — — l——— 1200— —7-’—;/—-/— L————
ANANA L
// //
// // // L
/// /// e
50— — 4 | 550— |
| Is36 | LPA 795 1658 |
0 550 1584/1600 2400 0 1584/1600 2400
HPA HPA

Quasar C500

F———— 900t
80— — — —W 800]
550 550

SE Controls C600

F___

LPA 1d58 |
550 158471800 2200 0 550 1584/1800 7400 0 T584/1800 7400
HPA HPA HPA
Quasar L C600 SE Controls Twin C600
Quasar L C750 GAMME NON REALISABLE
1600— — 1600F— — 16001—
1200p— — — — %g\ %i% _— 1200p— — — — — — — 1200— ———i———
H80
550f— — | 550f—— 50— |
[ LPA | I
0 550 1584/1600 7400 0 550 1584 0 1584/1600 2400
HPA HPA HPA
Quasar L C600 SE Controls Twin C600
Quasar L C750 GAMME NON REALISABLE
90— — — — — — — 90— — — ———— — 90— — — — — ——
800— — — — — — — 800——7(rj7‘ 800————7"IZ|7‘
550— — 550 — — 550—
[ [ | [ [ T1 | [ 1 |
| s | | LPA | | libs2s | LPA |
0 550 158471800 2400 0 550 1584/1800 7400 0 158471800 7400

S~
SOUCHIER




